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INSTRUCTIONS
1. Write your Roll Number only in the box provided alongside.
Do not write anything else on the Test Booklet.
2. This Test Booklet contains 75 items (gquestions). Each item comprises four responses (answers).
Choose only one response for eaéh item which you consider the best.
3. After the candidate has read each item in the Test Booklet and decided which of the given

responses is correct or the best, he has to mark the circle containing the letter of the
selected response by blackening it completely with ball point pen as shown below. ILB.
Pencil should not be used in blackening the circle to indicate responses on the answer
sheet. In the following example, response “C" is so marked :

® ® @ O

4, Do the encoding carefully as given in the illustrations. While encoding your particulars
or marking the answers on answer sheet, you should blacken the circle corresponding to
the choice in full and no part of the circle should be left unfilled. You may clearly note
that since the answer sheets are to be scoredfevaluated on machine, any viclation of the
ingtructions may result in reduction of your marks for which you would yourself be responsible.

5. You have to mark all your responses ONLY on the ANSWER SHEET separately given.
Responses marked on the Test Booklet or in any paper other than the answer sheet shall
not be examined. Use ball point pen for marking responses.

&, All items earry equal marks. Attempt all items.

T. Before you proceed to mark responses in the Answer Sheet fill in the particulars in the

front portion of the Answer Sheet as per the instruections.

After you have completed the test, hand over the OMR answer sheet to the Invigilator.

9. In case of any discrepancy found in English and Hindi Version in this paper, the English
Version may be treated as correct and final
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TOURISM ADMINISTRATION AND MANAGEMENT
PAPER II1

Time Allowed : 2% Hours] [Maximum Marks : 150
Note :— This paper consists of Seuenify five (75) multiple choice questions. Each
question carries fwo (2) marks. Attempt All questions.
1. Himachal Pradesh was named by :
(A) Acharya Anchla Datt Sharma
(B) Acharya Himma Datt Sharma
(C) Acharya Diwakar Datt Sharma
(D)  Acharya Himachala Datt Sharma
2. Village Paragpur is the First Heritage Village of :
(A) Himachal Pradesh (B) Jammu and Kashmir
(C) Uttarakhand (D) India

3. Which standard has the Himachal Pradesh Government successfully imposed

environmental protection and tourism development meeting ?

(A) Indian standards (B) European standards

(C) Canadian standards (D) Rio-de-Janeiro standards
4. Which of the following would be an example of a “Hybrid” service ?

(A) University (B) Professor

{(C) Restaurant (D) Airline
T.B.C. : 2914/ET-111 2
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5. In the question given below there are two statements, one labelled as
Assertion (A) and the other labelled as the Reason (R) :

Assertion (A) : MBO is an effective way of planning and organizing the

work.
Reason (R) : Employees participate in setting the objectives.
In the context of the above two statements, which of the following is correct ?
(A) Both (A) and (R) are true, and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true, and (R) is not a correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

6. In the question given below there are two statements, one labelled as

Assertion (A) and the other labelled as the reason (R) :

Assertion (A) : According to theory X, all employees dislike work and must
be coerced, controlled or threatened to make them work.

Reason (R) : Theory X’ makes an assumption about the basic human nature

which is relevant to the employees also.

In the context of the above two statements which of the following is

correct 7

(A) Both (A) and (R) are true, and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true and (R) is not a correct explanation of (A)
(C} (A) is true but (R) is false

(DY (A) is false but (R) is true
T.B.C. : 29/14/ET-II1 4
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g f The marketing communications mix consists of six major modes of commu-

nication. Which of the following is not one of these modes 7

(A) Personal selling (B) Advertising
(C) Sales promotions (I} Packaging

8. Marketing research involves conducting research to support marketing
activities and the........m i, interpretation of data into information.
(A) Descriptive (B) Deductive
(C) Inductive (D) Statistical

9. Match the List I with List II and select the correct answer using the codes
given below the lists :

List L. List 1I

{Luxurinuﬂ- Tourist Trains) (Number of Coaches)
(a) Palace on Wheels (i) 23 Coaches
(6) Deccan Odyssey {(ii) 14 Coaches
{r) Maharaja Express (7f) 11 Cua:heF
(d) Golden Chariot (iv) 21 Coaches

Codes :

(a) (b) (e) (d)
(A) (&) (i) (1if) (iv)
(B} ) (iv) (i) (i)
(Cy Gw) (£ig) (i) (i)

(D) () () (£} (fv)
T.B.C. : 29/14/ET-III 6
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10. The luxurious tourist train Palace on Wheels started as a unique holiday

train hauled by a steam engine with its inaugural trip on :

(A) 26th January, 1982 (B) 15th August, 1952

(C) 2nd October, 1982 (D) 14th November, 1982
11. Locale of the Amtrak Railroad Service doees not include :

(A) Wyoming and South Dakota

(B) Omtario

(C) British Columbia

(D) Quebec

12. In the question given below there are two statements, one labelled as
Assertion (A) and the other labelled as the Reason {R) 3

Assertion (A) : Himachal Pradesh has a rich heritage of handicrafts.

Reason (R) : Himachal Pradesh handicrafts include woollen and pashmina
chawls, carpets, silver and metal ware, embroidered chappals, grass shoes,
Kangra and Gompa style paintings, wood-work, horse-hair bangles, wooden
and metal utensils and various other household items. These aesthetic and
tasteful handicrafts declined under competition from machine made goods and
also because of lack of marketing facilities. But now the demand for handicrafts
has increased within and outside the country.

In the context of the above two statements, which of the following is

correct 7

(A) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(B) Both (A) and (R) are true, ax:xd (R) is the a correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
TR.C. : 2914/ET-111 8
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13. . The Renukaji Lake is the largest lake of Himachal Pradesh and shaped like

a profile of a :
(A) Flower (B) Bird
(C) Snake (D) Woman

14. In the question given below there are two statementslr, one labelled as

Assertion (A) and the other labelled as the Reason (R) :

Assertion (A) : Space tourism is space travel of recreational, leisure or business

purposes. A number of startup companies have sprung up in recent years.

Reason (R) : No Sub-orbital Space tourism has occurred yet, but since it
is projected to be more affordable, many companies view it as a money-making
proposition. Most are proposing vehicles that make suborbital flights peaking
at an altitude of 100-160 kilometres. Passengers would Exp&‘;‘ienﬂﬂ three to
six minutes of weightlessness, a view of a twinkle-free starfield, and a pano-

rama of the curved Earth below :

In the context of the above two statements, which of the following is

correct 7

(A) Both (A) and (R) are true, but (R} is not the correct explanation of (A)
(B) Both (A) and (R) are true, and (R) is the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R} 158 true
TR.C. : 20/14ET-III 10
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16.

Himachal Pradesh needs high-tech risk and disaster managemeni: for its

tangible tourism Products because it falls in Earthquake :
(A)y Zone 5 of India (B! Zone 4 of India
() Zone 3 of India (D) Zone 2 of India

In the question given below there are fwo statements, One labelled as

Assertion (A) and the other labelled as the Reason (R) :

Assertion (A) : The smaller the variance the less spread of the data around

the mean.
Reason (R) : The variance is a measure of the spread around the mean.

In the context of the above two statements, which of the following is

correct 7

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not a correct explanation of (A
(C) (A) is true but (R) is false

My (A) is false but (R) is true

T.B.C. : 26/14/ET-1II 12
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17.

In the guestion given below there are two statements, one labelled as

Assertion (A) and the other labelled as the Reason (R) :

Assertion (A) : Those companies who believe in Product philosophy are of
the opinion that if the quality of goods or services 1is of pood standard, the
customers can be easily attracted. The basis of this thinking is that the customers
get attracted towards the products of good quality. On the basis of this
philosophy or idea these companies direct their marketing efforts to increasing

the quality of their product.

Reason (R) : It is a firm belief of the followers of the product philosophy
that the customers get attracted to the products of good quality. This is not

the absolute truth because it is not the only basis of buying goods. .

In the context of the above two statements, which of the following 1s

correct ?

(A) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(B) Both (A) and (R) are true and (R) is the correct explanation of (A)
(€1 (A) is true but (R) is false

(D) (A) is false but (R) is true

T.B.C. : 2914/ET-111 14

T



17. 9N G2 ™ g A D v ¥ G o afimen (A) TR gmn wF (R) B

Wﬁ}:%ﬁﬁﬁ'ﬁmﬁhﬁﬁmmﬁ%%mmﬁ%ﬁuﬁ
T w1 oA AgA e I wW A E, IdEdel w1 e ¥ enwfda fea
, mm%aﬁﬁamm%%mﬁwmﬁwﬁmﬁmmﬁﬁ
ﬁﬁ%lﬁmmwﬁmﬁwmﬁﬁﬁﬁmﬁmﬁmaﬁa@ﬁ

 fou o faeom wEmi @ fewm 3

T (R) : 3% XA & @t =1 78 9o fawem & 5 sudsn et o
® TRl F Wid ARG B ¥ W U T T § e 9% 9wl # 'liw w

THAA HER TE

S FyH & wed § Feafefen 4 shw @@ ¥ 2

(A) (4) o ®) I @@ ¥ aFF (R), (A) F T =@ = E
(B) (A) ﬁz{ﬂ}ﬁnﬁ%&#’n{ﬂ}. EA}'-HﬁF@m%I

(C) (A) W& & dfHa (R) 7o B

D) (A) TET & AT (R) T 2

T.B.C. : 20M14/ET-III - 15 - P.T.O.



18. The activities of persons travelling to and staying in places outside their usual
environment for not more than one consecutive year for leisure, business or
other purposes, is the official definition of Tourism published by World Tourism

QOrganization in the year :
(A) 1992 ' (B) 1993
(C} 1994 (D} 1995

19.  The final area of environmental impacts concerns visual and structural changes,

and it is here that there is perhaps clearest balance between :
(A) Physical and Biological impacts of Tourism

(B) Structural and Biological impacts of Tourism

(() Ecological and human impacts of Tourism

(D) Negative and positive impacts of Tourism

20. The recent attempts to ground Tourism as constitutive of daily experience
rather than a distinct and separate entity that express resistance o the

everyday, raises the wider issue of relationship between :
(A) Tourism, travel and leisure

(B) Tourism, excursion and leisure

(C) Tourism, pleasure and leisure

(D} Tourism, recreation and leisure
TR.C. : 29/14/ET-III 16
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21.

22,

24,

The home to Asia’s only natural ice skating rink is in Himachal Pradesh and
the name of that city is :

(A) Kufri (B} Chamba
(C) Shimla (D) Kullu

Rohtang Pass is a high mountain pass that connects Manali to the Lahaul
and Spiti district and also to :

(A) Tibet (B) Nepal
(C) Ladakh (D} Leh

UNESCO World Heritage Site in Manali known for its exceptional natural

beauty and biological diversity is :

(A} Pin Valley National Park

(B) The Great Himalayan National Park
(C) Manali Sanctuary

(D) Bhrigu

A reserved natural, semi-natural or developed land that a soverelgn state
declares or owns. Although individual nations designate them differently but
there is a common idea of the conservation of wild nature for posterity and

as a symbol of national pride. It is termed as :
(A) Wildlife Sanctuary (B) Wildlife refuge

() National Park {D} Protected area

T.B.C. : 29/14/ET-III 18
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25.

Which one among the following is not in the list of Six Hill Forts in Rajasthan
that received the UNESSO World Heritage site status 7

(A) Kumbhalgarh fort | (B) Chittorgarh fort
(C) Bhangarh fort (D) Gagron fort

In the question given below there are two statements, one labelled as

Assertion (A) and the other labelled as the Reason (R) :
Assertion (A) : Desert tourism is worthy for research.

Reason (R) : Several civilizations have been born on the fringes of the desert,
along its ancient watercourses, around the trading posts of the great merchant
caravans. The des;art is an open-air museum that discloses the riches of these
ancient civilizations. Numerous sites are now being explored by tourists seeking
to understand these civilizations and see artifacts and archaeological ruins

dating back thousands of years. The special character of desert biodiversity

- also makes these regions natural laboratories for observation and analysis,

while their geology makes them the ideal place for studying the formation

of the earth and analyzing fossils and meteorites.

In the context of the above two statements, which of the following is

correct 7

(A) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(B) Both (A) and (R) are true and (R) is the correct explanation of (A)
() (A) is true but (R) 12 false

(D) (A) is false but (R) is true

T.B.C. : 29/14/ET-I1I 20
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27.

In the question given below there are two statements, one labelled as

Assertion (A) and the other labelled as the Reason (R) :

Assertion (A) : Ecotourism is also a bit controversial, particularly as those

terms are used and sometimes abused for marketing and economic purposes.

Reason (R) : Many consumers and sometimes even the tourism business
cannot properly tell the differences between ecotourism, nature based tourisin,
sustainable tourism and environmentally friendly tourism. These terms are

often used as synonyms OF without proper clarification.

In the context of the above two statements, which of the following !

correct 7

(A) Both (A) and (R) are true but (R) is not correct .explanation of (A}

(B) Both (A) and (R) are true and (R) is the correct explanation of (A

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

TB.C. : 29/14/ET-111 22
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s Tz, T wen i vatas w1 | S v & o oad F -
T T wE | v W wE: e w1 e fan fed S e

% wam & s B

s o wel B wed § foa 4 @ v W@ R 2

(A) (&) v () I T E AfET R), (A) FE = T E

(B) (A) 3 (R) A =@ £, @t (R), (A) F & =EA ¥

(C) (A) W& & afFs (R) Tew ¥

D) (A) oW T AfE (R) T ¥

T.B.C. : 29/14/ET-1II 23 P.T.O.



28.

29,

In the question given below there are two statements, one labelled as

Assertion (A) and the other labelled as the Reason (R) :

Assertion (A) : As tourists, we routinely evaluate the physical geography

of potential destinations.

Reason (R) : The earth’s physical systems affect tourism, either as resource

that provides the basis for tourism or as a barrier that prevents tourism.

In the context of the above two statements, which of the following is

correct 7

(A) Both (A) and (R) are true but (R} is not correct explanation of (A)
(B) Both (A) and (R) are true and (R) is the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R} is true

Tourist escapes cooler latitudes in favour of warmer plac;as. Urban people may
seek the solitude of rural or remote places. Historie sites attract tourists who
live in modern environments. Familiarity of the home is replaced by the

difference of the foreign.
The above statement is an example of :
{A) Diversions in Tourism (B) Inversions in Tourism

(C) Convergence in Tourism (D) Distractions in Tourism

T.B.C. : 29/14/ET-III 24



28. AR A 7@ yw A & ww ¥ o ww sfmye (A) ¥ o T e (R) ¥

ATHTT (A) : TieF & 9 A 70 v v & e gie w5 e g
W ¥ ?

7@ (R) : = syl Wt # owhe @ § @ @ Sand 3w
# 9 v @ fog enum WeE ¥ ¥ s aedw @ w9 § oW v =
o E 2

I9gEa T wu B ey # Frofefen 4 @ Svwm owd ¥ 2

(A) (A) 3 (R) 3 ¥ T A (R), (A) F T =Em T
(B) LAJEﬂI{RBﬁHE:Yt,HﬂTERLEA}'#EﬁW%I
(C) (A) ¥& ¥ ofFa (R) 7o %I

(D) (A) 7o & @A (R) =& ¥

29. THH YilM A 1 STHL T AN F R W T, VR = Ut wHiaary
AYA g B TE W wea ¥ Wefew e @ e w6 onsf w1 € W
g T B W ¥ W oWt ufted Ry § dare s e @ St
i)

IFF FUT TH W T :
(A) THea § waRaE (SEaEEH) (By wd=za § wfaer

(C) wden # arfrmm (D) wdeq # fawdo
T.B.C. : 29/14/ET-I11 25 P.T.O.



30. What is the ecomark logo for India ?
(A) A little child with an colive branch in his hand
(B) An earthen pot
(C) Sun and Sand
(D) Sun, sand and water
31. The rejection of type-1 error occurs only when the null hypothesis is :
(A) true; the probability of alpha |
(B} false; the probability of beta
(C) accepted ; the probability of gamma
(D) status-quo; the probability of alpha

99 When the processes of execution of tourism plan start, the tourist spot is literally

owned by the :
(A) State and its departments
(B) Private players

(C) Project managers of different (private and government) construction

companies

(D) Local peﬁple and tribal population so that the execution schedule is not

delayed

T.B.C. : 29M14/ET-111 26
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30, WNA w e A e ¥ 7
(A) fa s @ Ty § fau @ = 2@ "=
(B) us fagt =1 =iA
(C) ¥ s fagh
(D) wd, fagt o 9t
31. =Z;@u-1 Ffz =1 orEfa @it 3 & 9 Y SEEET ® o
(A) TF; WER F HWEAA
(B) oe; el ®I W
(C) wlsa; T i |9
(D) awfeafa; w H HRE

32. w9 ghed o W FEitad U S W JRY 2R &, T e % w9 : e
frus anfiq @@ & 2

(A) T 3R I fawml #
(B) feft wufmal =
() Fafam (freit R war) fafu $ofE & ofEem wEee &

(D) o Em sk S SEe & T FEtag 'y O d 30 1 8 w6

T.B.C. : 29M14/ET-III 27 P.T.0.



93 Whick one of the following would force national-level tourism planners =

consider factors related to tourism sustainability 4
(A) The number of tourists visiting a tourist spot increases during peak seasor.s
(B) The glaciers are receding in the Himalayas

(C) Tourists are helping local people learn new technologies and modes o

operations in the parlance of tourism administration
(D) Both (A) and (B)
34  For the purposes of tourism statistics, the means of transport refers to .
(A) Public transport used by a visitor throughout his/her trip
(B) Scheduled transport for which payment is made by the visitor

(C) Transport used by a visitor to travel from his/her place of usual residence

to places visited

(D) Local transport used by a visitor at his/her destination

T.B.C. : 2914/ET-III 28



33. v gedw (weifafedt) @ wefan wesi w faem @ & fag, o ww @

Tz freesl W e 8 @ S wyesd @ ?
(A) =TFagd 999 % §R9 TdeE we W AW 9% e S Hem ¥ Wl g
(B) feoem w =fter fsm w@ #

() Tdew, wdEs WOTRE H V=TEel § T4 dFAel ol H9eE $ aie $ gie

¥ T @l R W AR E
(D) (A) 3R (B) M
34. whA w3l & Ry A WfEw F WA w1 owEeE ¥ o
(A) It B S AE $ I SEeE uiEed & SR |
(B) fauif wfee fowsd fom et g0y fea m R

(C) arst g v w9 e wm @ g o O 9 % fon swae

T YiEE |

(D) 7o W Al g sewme fEen men wmem ufEea

T.B.C. : 29/14/ET-111 29 P.T.O.



95  This consists of two lists of luxury trains and their key stations. The candidate

has to match an item in list I with an item in List 11 :

List I
(Luxury Trains)
(@) Palace on wheels
() Deccan Odyssey
(¢) Royal Orient
(d) Heritage on Wheels
Codes :

(a) (b) (c)
(A) () (24i) (ii)
(B) Gv) (#ii) (i)
(C) @ (iv) (LiE)

o G (#iz) (iv)

T.B.C. : 2914/ET-III

()

(iv)

()

(i)

30

List 11

(Key Stations)

(i Bharatpur

() Udaipur

(iii) Goa

(iv) Bikaner

1




35. <1 gfadi # sEedl 3 iR TS g wyEl % W T ¥ 5% gifee =i

et 1

(FaTt 39)

(@) o AR =i

(b) w7 et

(e} Uaw Afigee

(d) =iz s =9

we

(er) (b) ()

(A) @) (228) (it

(B)  Gw) (iid) (i2)

G @ (fv) (i)

m @ (zii) (i)

T.B.C. : 29/14/ET-11I
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(i)
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@) wER
(i) FAR
(i) T
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36. In order to meet human resources for hospitality sector and promote
hospitality education in main stream education, Ministry of Tourism, Govt.

of India for Broad Basing of Hospitality Education has covered till 2014 :

(A} 10 universities (B) 20 universities
5 Colleges 10 Colleges
50 Schools 70 Schools
4 Polytechnics 8 Polytechnics
1 ITI 5 ITIs

(C) 30 universities (D} 15 umiversities
20 Colleges 7 Colleges
100 Schools 77 Schools
20 Polytechnics 4 Polytechnics
90 ITIs 31 ITIs

T.B.C. : 29N14/ET-III 32



36. anfaen &= F oy wre TEEE EF 9W I e vt # anfaen faan = vieere

T.B.C. :

37 ¥} e HAEE, YR WER 7 afaen foan = =mowa # foe od 2014

mine fFm

(A} 10 fevafammer
5 HElfaemd
50 fammera
4 et
1 = Aans.

(C) 30 ﬁﬁm
20 HeEifaEmeE
100 T
20 iRl

90 83138,
2914/ET-111

33

(B)

(D)

20 fovafames

10 HeEfaaed

70 Taemem

5 3ME.21.ATE.

15 Tavafaamm

7 weEfaae™

77 Oy

31 R
P.T.O.



37 For a shipment of fish packed in watertight containers from OSLO, NOR WAY

to MUNICH, GERMANY, what type of label must be affixed to this

shipment ?
(A) Wet cargo (BY Perishable
() Strong smelling (D) Live animal

38. A coefficient alpha measures the scale reliability by taking :
(A) The stand;zlrd deviation of all split-half measures
(B) The dispersion of all test-retest-measures
(C) The average of all possible split-hall measures
(D) The median of all possible split-half values
99, Management means :
(A) Getting things done through others
(B) Doing things oneself
(C) Both (A) and (B) above

(D) None of the above
TR.C. : 29/14/ET-111 34



37, sith, 914 @ o, S & fou SR FER A @ T W 9§

™ W {F0 weR @ dde @ g =ifer, 7
(A) == =P | (B) ¥ira Fve
(C) = = Fen (D) weiE Wi
38. TR TWeUWEl 3w o fremfafed w1 fRed wmam ¥ 2
(A) ufi TreR-TE-we =1 wAE faged
(B) @ ¥=-fZm ¥y &1 famw
(C) =t ovwa fome o B w1 3w
(D) =¥l 999 foee ¥% 3 &1 "1 9ol
39. vaEuq =1 angd ¥
(A) T % W F FwE FEE
(B) =4 F/@ &
(C) (A) 3 (B) FF

(D) 9 F @ w7

T.B.C. : 29/14/ET-III 35 P.T.O.



40,

41.

42,

A company’s total assets are Es. 80.000 and its equity is Rs. 60,000. Its current
assets are Rs. 10,000. What is its debt : equity ratio ?

(A 0.75:1 (B) 033:1
() 017 :1 (D) 013 :1
EIS provide highly unstructured information to " T AR . -

management for long term decision-making.
(A) Operational (B) Lowest
(C) Middle (D) Top

In the question given below there are two statements, one labelled Assertion
(A) and the other labelled as the Reason (R) :

Assertion (A) : Marketing organizations increase the likelihood that their

brand is part of the consumer’s evoked set.

Reason (R) : The consumers compare the brands and products that are in

their evoked set.

In the context of the above two statements, which of the following is

correct 7

(A) Both (A) and (R) are true but (R) is not correct explanation of (A)
(B) Both (A) an& (R) are true and (R) is the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

T.B.C. : 29N4ET-IIT 36



40. T8 = F1 FHa giEaiwEl 80,000 ¥ § #R 3REE 60,000 93 ¥ =] wREgEl
10,000 98 ¥1 Ut w1 WO : fawdt sguw W= ¥ ?

{(A4) 075 :1 {(B) 0.33:1
(C) 017 :1 (I» 013 :1
41, femvm. Sreefas fofg e g W YEYA 1 39 i geend

I FAA 6|
(A) iCETeR (B) T
(C) ==H (D) ==
42, ﬁﬁﬁ@mﬁéwﬁﬁﬂﬁﬁmw%mmﬁm}h

Afirwa= (A) : f99vF ¥eq 58 9wET & 99 <0 ¥ 5 T wiE ol @
Weafen wgE w1 3 ¥

T (R) : T4 99 7= X SR # 99N w0 § S I Wowed 9E H
#m ¥

TE 2N wwEl & wed W FrAfafes § 4 s W ¥ 2

(A) (A) @R (R) 3 = £, dfF (R), (A) =Y W =wEm T R
(B) (A) ¥ (R) 3 @ ¥ @fFT (R), (A) =t & e T
(C) (A) W&l & af (R) Tem ¥

D) (A) Tea & @feT (R) =8 )
T.B.C. : 29/14/ET-II1 ' 37 P.T.O.



43.  Which one of the following is not correct in regard of the forts of India ?
(A) Defence
(B) Palaces
(C) Polo-sport
(D) Prison

44. Ranthambhore fort was one of the strongest forts and it was a stone fort.

Now-a-days for tourists it is an attraction for :
(A) Palaces

(B) Painil:,:ings

(C) Tiger sanctuary

M) Rock architecture

45 Which one of the following combinations is the correct compositions of

understanding Trilogy appmach. -
(A) Affective, Behavioural, Psychological
(B) Cognitive, Attitudinal, Social
(C) Cognitive, Affective, Conative

(D) Belief, Perceptions, Knowledge
T.B.C. : 2¥14/ET-I1 38



43. FE A Y @Fw aa & fral & IR H W@ & T ?
(A) &
(B) w&d
(C) drel @
D) =

44, g w1 feen wad wfFaemet fFal § @ o @1 3R a7 ool ¥ o fFon 9
AoHE gdewl & fou a7 59 g | Aeyu W Fg T ?

(A) #&d

(B) fe=

(C) =™ JAYIRTY

(D) feen argHen

45. fTr=fafes # Q S99 & 39 ool mE ®) 999 & 98 "y g 2

(A)  WWiEl, SHEERSA, A6

(B) HaHIHSH, WEWH, TS

(C) dareTE, e, feagfos

(D) favaw, s@yron,
T.B.C. : 29/14/ET-11I 39 P.T.O.



46. In the question given below there are two statements, one labelled as

Assertion (A) and the other labelled as the Reason (R) :

Assertion (A) : For marketing and promotion, it is very essential to know

the profile of tourists, both actual and potential.

Reason (R) : Effective marketing can be launched only after ascertaining

the physiological, psychological, sociolgoical etc. wants of visitors.

In the context of the above two statments, which of the following is

correct ?

(A) Both (A) and (R) are true but (R) is not correct explanation of (A)
(B) Both (A) and (R) are true and (R) is the correct explanation of (A)
(C) (A) is true but (R) is false

(D} (A) is false but (R) is true

47. Which of the following pairs is not correctly matched ?

(A) Pinjore Garden — Lucknow
(B) Nishat Garden — Kashmir
(C) Lodi Garden — Delhi
(D) Aram Bagh — Agra

T.B.C. : 2914/ET-111 40



46.

47.

TR mmmiddsm i waimm O TS ™ ®

wAfwaT (A) : e @ s % o vdes st arafas @ 9ys teed

F WA Fgd AETEF £

% (R) : 99asnl fauoe &fa ol f& on 9@ § 98 vdes] F1 TiEanas,

m,mmmﬁmﬁmmmml
¥ IHEE 9w % ey § frefafen § S S0 W@ e ?
(A) (A) i (R) 2F = § AT (R), (A) =t wd =en w4 R
B (A) ¥R ® A w@ A (®), A) F W@ sTen ¥
(C) (A) @&t & afFa (R) Tem &1

(D) (A) 7ea ® @fed (R) w& ¥

Freffefean 4 @ =M g gifea =8 & 2

(A) foeie mEs - RICEE
(B) frema mew — FYHN
(C) =t e - ferett
(D) M =5 - T

T.B.C. : 2914/ET-II1 41 P.T.O.



48.  Pricing to cover variable cost and some fixed costs is typical of which of the

following pricing objectives ?
(A) Current profit maximization
(B) Product quality !eaderﬂhip
(C) Market share leadership
(D) Survival
49,  After Sale, Services are mostly affected by :
(A) Consumer's Behaviour
(B) Need of Dealer
(C) Company-Supplier Relation
(D) Customer-Supplier Relation
50. Under the ABC scheme, air fare may include :
(A) ticket price and meals
(B) only the ticket price

(C) ticket price, meals and taxi fare from air-port to the destination of pas-

senger

(D) Ticket price and arrangements for movement on the land

T.B.C. : 2914/ET-III 42



49.

frefafea § ¥ fra Tea fuafor g ) favsa wiedvia @ 3R w5 fvifa
A @ e G @ fa geg PR w2

(A) TduH @Y W AfEHaR FE

(B) IR TOEW AGH

(C) 9Nk yriedl g«

(D) IuTSitferan

fasra wve dard ygEe: fEed g gwifaw @t €2
(&) T TR G

(B) EeR ¥ IETIRM T

(C) FoI-sufdwdal G99 g1

(D) SusE-Iyfdeal HaY g

Rt G @ e, g fedl # wfinfaa @ e ¥
(A) fewe #1 geg 3R 9=

(B) @« feme =1 774

(©) Fowe 1 wem, divA 99 TRUR ¥ 6t P o 9% F RN FOHwn

(D) fere %1 759 3R yfs w offafidl & wau

T.B.C. : 29/14/ET-III 43 P.T.O.



51. For children, the IATT charges :
(A) Half the amount of the IATT charged from adults
(B) Equal to the amount of the IATT charged from adults
(C) Without any charge
(D) One-fourth the amount of the IATT charged from adults

52. In the parlance of tourism administration, a tour operator is considered to

be a :
(A) Retailer
(B) Wholesaler
(C) Service provider
(D) Purchaser of goods for tourists
53. Which one of the following is not the functions of a travel agency ?

(A) To get the visa to be issued by the concerned embassy and to travel

with the tourist
(B) Liaison with providers of services
(C) Preparation of tour itineraries

(D) Provision of travel information

T.B.C. : 29/14/ET-III 44



51, @=u & fou smu@td. (IATT) To% & & .
(A) IATT =o=i 4 foet yos & & 3O amq
B) IATT wei 3 o Yo & 598w
(C) fon fost o &
(D) IATT foa S9%hi ¥ Yo% ol & 5051 TH- |
52. wHEA WIMEA W YESrEwel ° oA d@eens (2 sfoien) i men oW R
() g b (RRem)
(B) o= faga (drerdem)
(C) T=1 Iqered HAA el
ED)W%MH@E@M
53. frefafan § € S 299 gt %1 wd W@ ¥ 7
(A) T e § THow T e w0 FEm SR SE WY A S
(B) H= wErmeli § W9 6 FEW S|
(C) =en fasy daR +

(D) A= = H AELH

T.B.C. : 29/14/ET-111 45 P.1.0,



94.  Culture would be the major issue while developing a new tourist spot. How

can culture be used in a positive sense in this context 7

(A) Cultural differences can be used for learning new modes/techniques of

living.

(B) People are keen to learn more about new cultures, dance forms, music
and other special art forms of the people of those tourist spots that they
plan to visit. This is a natural phenomenon. It certainly gives a fillup

to develop a new tourist spot.
(C) We can use culture as the USP for selling a tourist spot to tourists

(D) To respect the cultural mores of the local people, the tourists should not

be allowed to interact with the local ecommunity.
55. Plan allocation for the 12th Five Year Plan, is to the tune of :
(A) 35,68,626 crore rupees
(B) 34,68,626 crore rupees
(C) 35,60,628 crore rupees

(D) 31,60,626 crore rupees

TB.C. : 28/14/ET-III 46




54. TN T wE & fowm @ W weafe wh mee qmE g wge d@ed #
Gepld ®1 s I fFE vER s gea &7

(A) WEFfow Fa9e F Ted-wed F1 74 a1s R ywRl #1993 3 fr sa
T =1 "o &

(B) < fo Wi Tl #1 a0 wTn A € 9l % wni @ wh deph, T
w91, T R &= fadw e w0 % W # afuwfis 9w el ¥ 2 @@
F WEhiw w2 ¥ 9 fifved @ & o v e 5 e @ o e
B ¥

(C) ¥ TR 1 399m weml & fau wden we w9 +0 % e 51 99
€

(D) <M % wientos Gfa-fast = @ =@ ¥ wes = oy oRE @
WY AREa w4 W A T8 aE =i

56. 1291 Y=adiy dem # fou Ao onEe feem gen ¥ 2
(A) 35,68,626 ®iT TH
(B) 34,68,626 i ¥99
(C) 35,60,626 Firg v

(D) 31,60,626 FUT T74

T.B.C. : 29/14/ET-II1 47 P.T.O,



o6.

7.

o8.

Which of the following best represents the chief advantage of pursuing a

multi-segment strategy ?

(A) It makes the company almost bullet proof to competitors’ actions
(B) It diversifies the firm’s risk

(C) It creates synergy between markets

(D} It is a low cost strategy

With respect to understanding consumer behaviour, there are four key

psychological processes. All of the following would be among those processes,

EXCEPT :
(A) Motivation (B) Perception
(C} Learming (D) Self-reliance

Total customer satisfaction is measured based on the relationship of :
{A)} Anticipated and real performance

(B) Perceived performance and expectation

(C) Advertised outcomes and real outcomes

(D) Past experience and present experience

T.B.C. : 29/14/ET-III 48



o6.

Ho.

frafafas § & S, agEcE e B SR ® gEF A W s €9 8

- sifiemR T T 7

(A) TE wwh B wfmies wE @ sfwwvm: P WA WRE FE §
(B) T w % Wfew @ s i A wwe b

(C) =& =en # welmawiem Yo w2

(D) @ WE FHH @OE FE WHEITG §

Ty SRR F TEEE 3 g 9N st wiwand §) frefafan 3w

WEE § 7
(A) srfesTom (B) gf=smm
(C) =afermg (D) et

FA WeF Wafe H Ww fe el F SR W F W€
(A) ey o grdias eaRA

(B) erufem rdfeaes a9 woarem

(C) Taanigm oftome @mn awafas wfom

(D) fam sgya a9 SdAE HgYE
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58.  Market growth plotted on the vertical axis of the BCG growth share matrix,

provides a measure of :

(A) Market attractiveness

(B) Relative market share

(C) Company's market strength
(I}  Product profitability

60.  Because of foreign tourist arrivals (FTAs) between the period from 2012-2013

to 2013-2014, foreign exchange earnings increased or decreased to :

Earnings in Earnings in
(Rs. Crore) (Rs. Crore)
(2012-2013) (2013-2014)

(@) 14% 11.5%

b) 13% | 71.3%

(e) 17.4% 12.8%

@ 102% 18.3%

61. Which one of the following is not a technique of Demand Forecasting ?
(A} Delphi Technique (B) Correlation Analysis

(C} Direct Derivation (D) Chi-square Analysis
T.B.C. : 29/14/ET-II1 50




59. WS ® AE Al W A My f dfwm # s gf W o E, sl
FEE YHE W B R 2

(A) Ol (B) wue =remd FreR
{G}mﬁaﬁ:ﬁaﬁmﬁﬁt ' (D) TR W ST

60.  2012-2013 § 2013-2014 F! ¥y & I TRt wHew & s @ e wm
wI AweA e @9 W w2

0 Hilg W At ¥ g W e
(2012-2013) (2013-2014)
(@) 14% 11.5%
) 13% 7.3%
(e) 17.4% | - 12.8%
) 10.2% | 18.3%

61. frefafas & € St ity #1 a4 =8 & 2
(A) ew s | (B) wedEy favamm

(C) vy =qwafy (D) wE-waa fagem
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62.

In the question given below there are two statements, one labelled as

Assertion (A) and the other labelled as the Reason (R) :

Assertion (A) : Besides Coastal tourism, a large number of lake and wetland
destinations can be found wa}:x*ldwide. Most of those lake and wetland des-
tinations are very different in terms of morphology, climate, culture, traditions
and so on. Nonetheless, they show also various similarities concerning their
characteristics, development potential and the threats they are exposed to,

including those caused by tourism.

Reason (R) : Water is an attractive element and plays an important role

in recreation and holidays.

In the context of the above two statements, which of the following is

correct 7.

(A) Both (A) and (R) are true but (R) is not correct explanation of (A)
(B) Both (A) and (R) are true and (R) is the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

T.B.C. : 28/14/ET-1I1 52



62, 9 FR M oww § 9 mem ¥ faal uw afumed (A) oo gEm @k (R) ¥

afiaaraT (A) : 70 we % Wg-my Tt Fed # @ o ey () WA
favs o um o THY ¥ I A ofumw die oiv emyf (3ER) T N
far, o, TR, TEE Ak wi g @ ags s § e oft 3§ st e,
formra el o it e S wEw W@ E S v g IS B T

# TAFad g9 o

% (R) : 96 T% s a0 ¥ 9 g o wnee § weEyl yffs # el

w T

TwjE o W @ wed § frefafes § ¥ Srw W@ ¥ 7

(A) (A) 3w (R) 2 =@ ¥ @ (R), (A) = W =T T T
B) (&) ¥R (R) H T § @ (R), (A) F W e 2

(€) (A) & & dfF (R) ToE '
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63.

64.

In the question given below there are two statements, one labelled as

Assertion (A} and the other labelled as the Reason (R) :

Assertion (A) : The ‘Grand Tour’ was a traveler’ circuit of key destinations
and places to visit in Europe, mainly by the wealthy, aristocratic and

privileged classes in pursuit of culture, education and pleasure.

Reason (R) : The -‘:-rigin of such tours can be recognized in those elements

of Roman society that travelled to Greece in pursuit of culture and education.

In the context of the above two statments, which of the following is

correct ?

(A} Both (A) and (R) are true but (R) iz not the correct explanation of (A)
(B) Both (A) and (R) are true and (R) is the correct e:-:planati-un of (&)
(C) (A) is true but (R) is false |

(D) (A) is false but (R) is true

Typical tactics designed to extend the maturity phase of Product Life Cycle

include :
(A) TIncreasing the amount of the product used by existing customers

(B} Adding or updating product features and price promotions to attract

customers who use a rival brand

(C)  Advertising to encourage trial of the product people who do not use this

category of product at all

(D)  All of the above
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66.

67.

The Brand name is different from Brand mark because :

(A) A Brand name has legal protection but a Brand mark does not
(BY A Brand name can be uttered but a Brand mark cannot be
(C) A Brand name is visible but a Brand mark is not

(D) A Brand name is recognized by the targeted customer but Brand mark

is not

Indian Govt. through its ‘Incredible India’ has launched a rural promotional
campaign. Under this promotional campaign, Fort Jadhavgarh situated near

Pune has been renovated and taken over by :
{,.M Tata Group of Hotels

(B) Kamat Group of Hotels

() Oberoi Group of Hotels

(D) Ashoka Group of Hotels

Marketing effectivi_aness includes :

(A Customer, competitor and risk analysis
(B) Marketing mix modeling

(C) Advertising and research

(D) All of the above
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68. Match List I with List I and select the eorrect answer using the codes given

below the lists :
List I

(@) Tourist demand

(b} Tourist wants

(¢} Tourist's value

(d) Tourist satisfaction

Codes :
{x) (b) (c)
(A) (i) (iz) (£2z)

(B) (if) Gy (@)
(C) ) i) (i)
(D) (i) @ . O

()
(2]
(i)
()
(iv)

(£)

List 11
Tourist perception of guality in
relation to Price

(ii) Belief that product delivered

promised value

(iii) Levels of requirements of product

with attached conditionlities

(iv) Requirements of specific forms of

products

§9. Different people play different roles in Buying decisions. Accordingly match
List 1 with List II and select the correct answer using the codes given below

the lists :
List I
(@) Initiator

{b) Influencer
(¢} Decider
(¢) Buyer

Codes :
(a) (b} (c)
(A) @ §i3) (1ii)
(B) (1) (&) ity
(C) (i) (&) (EE)
(D) (w) (i) (£E}
T B.C. : 29N4/ET-III

(d}
(iv)
()
(1)
(£iE)

(z)

(££)

(iii)

(2w

58

List II

Person who first suggests the idea
of buying

One who's view or advice influences
the decision _

Person who decides on any
component of buying decision

The person who makes the actual
purchase
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T0.

71.

T2.

One way to measure the spread is to calculate the difference between the

third and first quartile. This measure is called :
(A) The Inter-quartile Range (B) The mid-quartile
(C) The Differential Quartile (D) None of these

Which of the following should you think about when preparing your

research ?

(A) Your sample frame and sampling strategy

(B) The ethical issues that might arise

(C) Negotiating access to the setting

(D) All of the above

Which of the following should be included in a research proposal ?

(A) Your academic status and experience

(B) The difficulties you encountered with your previous reading on the topic
(C) Your choice of research methods and reasons for choosing them

(D) All of the above
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70.

T1.

T2.

aﬁaﬁaﬂﬁiqﬂﬁqﬁnﬂqa@ﬁh%maﬁm%mﬁmtlmmﬂ

Fed € 7
(A) Hai-Tguim & (B) WH-TgH
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mﬁmﬂﬁﬂﬁﬁﬁmﬁmﬁmmq’f‘eﬁﬁqﬁ%ﬁmmﬁﬁnm

=fge ?
(A) T @ SR T T
(B) ﬁﬁ{ﬁﬁ-ﬁﬁﬂﬂﬁ%l

() foara @F WgA Sl

(B) ﬁwﬂ'ﬁvﬁﬂ'mﬂmﬁaﬁmﬁqﬁﬂ

© ﬂﬁﬂﬂﬁﬁmmwﬂﬁﬂm?%%w

(D) IwE gl
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73. Research problem can never be classified as :
(A) Tame and Wicked
(B) Simple and complex
(C) Well defined and ill-defined
(D) Soft system and creative
74. It is helpful to use a multi-stage cluster sample when :
(A) The population is widely dispersed geographically
(B) You have limited tix;me and money available for travelling
(C) You want to use a probability sample in order to generalise the results

(D) All of the above

75. A measure of the strength and direction of the linear relationship between

two variables that is defined as the covariance of the variables divided by

the product of their standard deviations is called :
(A) Pearson product-moment correlation coefficient
(B) Coefficient of determination

(C) Linear regression

(D) Regression analysis
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74.

T5.
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